
SAP ABAP table RJGAUK2 {IS-M/SD: Data Transfer, Sales Customer, Sales Data 2}

RJGAUK2

VKBUR [CHAR (4)]

WAERS [CUKY (5)]

VKGRP [CHAR (3)]

KURST [CHAR (4)]

KDGRP [CHAR (2)]

KONDA [CHAR (2)]

PLTYP [CHAR (2)]

KALKS [CHAR (1)]

VERSG [CHAR (1)]

INCO1 [CHAR (3)]

KTGRD [CHAR (2)]

PERFK [CHAR (2)]

TAXKD1 [CHAR (1)]

TAXKD2 [CHAR (1)]

TAXKD3 [CHAR (1)]

TAXKD4 [CHAR (1)]

T151

MANDT [CLNT (3)]

KDGRP [CHAR (2)]

 RJGAUK2-KDGRP = T151-KDGRP 
0..N

0..N

T188

MANDT [CLNT (3)]

KONDA [CHAR (2)]

 RJGAUK2-KONDA = T188-KONDA 
0..N

0..N

T189

MANDT [CLNT (3)]

PLTYP [CHAR (2)]

 RJGAUK2-PLTYP = T189-PLTYP 
0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RJGAUK2-WAERS = TCURC-WAERS 
0..N

0..N

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 RJGAUK2-KURST = TCURV-KURST 
0..N

0..N

TFACD

IDENT [CHAR (2)]
 RJGAUK2-PERFK = TFACD-IDENT 

0..N

0..N

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 RJGAUK2-INCO1 = TINC-INCO1 
0..N

0..N

TSKD

MANDT [CLNT (3)]

TATYP [CHAR (4)]

TAXKD [CHAR (1)]

 RJGAUK2-TAXKD1 = TSKD-TAXKD 

0..N

0..N
 RJGAUK2-TAXKD2 = TSKD-TAXKD 

0..N

0..N

 RJGAUK2-TAXKD3 = TSKD-TAXKD 
0..N

0..N

 RJGAUK2-TAXKD4 = TSKD-TAXKD 0..N
0..N

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 RJGAUK2-VKBUR = TVBUR-VKBUR 

0..N

0..N

TVKD

MANDT [CLNT (3)]

KALKS [CHAR (1)]

 RJGAUK2-KALKS = TVKD-KALKS 

0..N

0..N

TVKGR

MANDT [CLNT (3)]

VKGRP [CHAR (3)]

 RJGAUK2-VKGRP = TVKGR-VKGRP 

0..N

0..N

TVKT

MANDT [CLNT (3)]

KTGRD [CHAR (2)]

 RJGAUK2-KTGRD = TVKT-KTGRD 

0..N

0..N

TVSG

MANDT [CLNT (3)]

VERSG [CHAR (1)]

 RJGAUK2-VERSG = TVSG-VERSG 

0..N

0..N


